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/( General Instructions to Candidates

@ There is a 'Cool off time' of 15 minutes in addnmn to the ertmf:y time of
21/2 hrs.
@ You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.
@ Use the 'cool off time' to get fam1har with questions and to plan your
answers.
® Read the questions carefully before answering.
© All questions are compulsory and only 1nterna1 choice is allowed.
¢ When you select a question, all the Sub questlons must be answered from
the same questlon itself. :
N @ Calculatlons, figures and graphs should be shown in the answer sheet itself.
\2\?}\\: ’ ® Malayalam version of the questions is, also provided. '
&%“\\\\\ @ Give equations wherever necessary. .
® Eleétronic‘ devices except nonprogrammable calculators are not allowed
‘ in the Examination Hall. ‘
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i.. a)

b)

c)

i A

IfAcB,then A(NB=....

i) B i) u

iv) ¢ (€
Ifu=1{1,2345,67, 8},
A=1{1,35,7 and B =12, 3,5,

6}, find A~ Band (AUB). (2

In a group of 70 people, 37
like coffee, 52 like tea and
each person likes at least one

of the two drinks. How many

' people like both coffee and

2. a)

b)

c)

3)

tea?

If set A has three elements
and set B = >{3, 4, 5}, then

the number of elements of

i) 9

i1i) 6 iv) 5 (1)

Write the_doﬁlain and range

- of the relation

R=1{(1,6),(2,7,(3,8), 409,

(5, 10)). (1)

Draw a rough sketéh of the
identity function. Write the

" ‘domain and range of the

K-26

3)

function.

1. a)

b)

A c B eowod AﬂBz‘ .........

i) B 1) u
1ii)A

i) ¢

Ifu=1{1,23 4, 5,67 8,

. A=1{1,3,57,B=1(2,3,5,6)

c)

2. a)

b)

c)

find A—B and (AUB )/.
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¢) Solve x*+5=0.

3. a) Match the'following : (%1)
A | B
i) Sin 21 |1 a -1
i) Szﬁn% | b oo
\ 2Tdnx
i) Secm ¢ I _Tanlzx
iv) Cos = d) 1
: o |
’ZTanx
) TiTan’x
b)) If Cosx:;35 and x lies in the
second quadrant, then
Tanx = ... ‘ :
i) > ii) 12
13 13
02w S @
13 _ 5
Conside;r the statement
Pn):2+4+6+... +2n=
nin + 1) | |
a) Prove that P(1) is true. | 58]
b) If P(k} is trﬁe, prove that
P(+1) is also‘true‘ (2)
¢) Is P(n) is true for all natﬁral ,
numbers 'n'? Why? gy
. a) If Z:1—i\/3—, then the
conjugate of Z is ... (i)
b) Write the polar form of the
complex number (3)
Z=-1+i/3.
()

3‘

4.

a) @olopalsl Goidee):

153

(4)

A - B

1) Sin 2x a)

1 i) Szﬁn% b) 0

2Tanx

Secrn ) 1 _Tan’x

1i1)

3 o
iv) Cos%z d 1

‘_2Ta7_1x .
1+ Tan2 x

e)

P2 +4+6+

b) x oe=oneEm 2IeRdG 00T

UOEmEe flWo

<,

@owod Tan x =

PO 12
Y13 wWeoq3

5

i11) 13 " iv) 5

nn + 1) agyom (@ov®oum aldlnen]
BOhT '
a) P(1) caleoasmr eogeene.

b) P(k) wdwowod Plk+1)
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b)

7. &)

b)

Solve the inequality

2553,
Solve the following system of
inequalities graphically.

2¢+y<8, x+ys6, x20,

—3'—1-—— .........
i) 6 ii) 10
i1i) 25 iv) 20

Find the value of n such that

nPS :4.”P2. n>3

c)

2

b)

’C)

K-26
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Find the number of different
6 letter arrangements that
can be made from the letters
of the word 'MOTHER,
assuming that no letter is
repeated so that

i) all letters are used at a
time.

ii) all vowels occur together.

OR

If "C,="C,, then n=.
i) 8
1ii) 6 iv) 3

What is the number of ways
of choosing 4 cards from a
deck of 52 playing cards?

i) How niany of these four
cards are of the same
suit?

i) How many of these four

cards belong to four
different suits?

(2)

(1)

(2)

M
(2)

1)

(2)

(2)

(D)

al

b)

c)

2x -5
222753 g momoo
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DENIS

2v+y<8, x+y<6, x20,

v=0.

51

a—_— ......... '
6 i) 10
i) 25 iv) 20

”P3:4.”PZ. n > 3 eowod n

e allel &0emids. '
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LG

111) 6

9aleowlal B EOEUOOREINS

(O DHOEMEBIRD  ®WOOY

AJO@IM {aldhd00 HENBIHNO0.

1) scoma®o af)@d @OEA0ES
" 8lo 9alEWIUIl))9E06nE?

1) cug@oy eoelal UEOHES

aflwe.

. @ReR|ssEd
"C,="C;, mo@od n = ...... :
i)y & i) 8
iv) 3

52 ®0dWwHa188 60) aloeoq

- 2flgldd aflamye 4 @0baR af)®

AN H@OOETHEIHN00?

1) . @ooled 4 OB IEHBL0 aeo

afleonaldd ©alsyon @
Alenth peeoidioep?
il) eooldd 4
CUymY D
ohealsym oo Cloled
oemso@claee?

SO0 L0
aflesn ool

153

3)

(L

(1)
2
1
(2)

(2)

1)




8. a)

.b)

b)

a)

The number of terms in the
6
expansion of (x'*_—_gj is ...
Lo '
o7 ii) 6
i) 12 iv) 3
Find the middle term in the

9\
expansion of (’C +;—2*) .

In an A.P., if the m™ term is

(1)

(3)

n and the n* term is m where*

m #n, find the p‘?’ term.

Find the sum of n terms of
the sequence whose n' term

isnin+ 3.
OR
The sum of the first thfee

— and

faGP. i1
‘germs_o a 18 12

their proauet is —1. Find the *

commen ratio and the terms.

Insert 4 numbers between 8

and 23 such that the resulting

K-26

sequence is an A.P.

(3)

(2)

(3)

(@)

8 a)
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b)

o)

a)

" b)

c)

1i. a)

b)

K-26

¢. a)

The slope of the line passing

‘through the points (3, 4) and

(5, —2) 18 ...... :
i) 4 ii) 3
ii1) -3 iv) 4

Find the distance of the point
(3, .=5) from the line

3x —4y—26=0.

Find the equation of the line
parallel to the Y-axis and
drawn through the point of

intersection of x -7y +5=0

cand 3x+y-7=0.
OR

The distance of the line
3x—-4y+2=0 from the
origin is ..... ’

, 2 o &

1 5 11 5

3 o B

) = iv 1

Find the equation of the line
parallel to 7x —y +9=0 and
passing through the point
(1, 5).

Find the new éoordinates

“of point (3, —4) if the origin is

shifted to (1,

translation.

2) by a

Find the equation of the
circle with center (-2, 3) and
radius 4.

Find the focus, equation of
directrix and length of latus
rectum of the parabola

vy =8x.
OR

(1)

(2)

(2)

S

(2)

(2).

2) |

(2)

10. a)

b)

c)

a)

b)

c)
a)

11.

b)

(3, 4), (5, =2) agyril endiowegcd

&S] HSON CalddhjON GUEIWISS |

((picI=Tlel, S IR .
1) 4 i 3
1i1) -3 iv) 4

(3, =5) agyero enflazy afiad aflemgo

3x—-4y-26=0 ag)(m
coaIlee @088 @0e-Llo
B06M)n.

Y @0OMOTIM] TOROADOBIQ®)0
x-Ty+5=0, Bx+y-7=0
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iii) iv)
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_Consider the ellipse z

a)

b)

12. a)

b)

13, a)

b)

i4. a)

b)

K-26

D 0,5.2)

OR .

2 2
+ =1,
36 16

Find the vertices, length of -

major axis and minor axis. .

Find the focus and

"eccentricity of the ellipse.

Any point on the X-axis is
i) (x,0,0
i) (x, 0,2)  1v) (x, 9, 0)

Find the centroid of th_e

triangle whose vertices are

(1, -2, 3), (3, 1, —6) and

(5,10, 3).

Find 7 % (x 1),

Find the derivatives of the
following with respect to x.

1) y=Tanx

i) y =x2+2Sinx

Write the negation of the
statement.

" \/5 is an irrational number".

Write the contrapositive and

converse of the statement.

"If a triangle is not isosceles,

(2)

(2)

»

(2)

8

e

(2)

1

3 |
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a) X eoesavlon 8oy afisy

5 ©.y.2) i) @00

iii) (x, 0,2) iv) (x, ¥, 0)

(1, -2, 3), (8, 1, -6), (5, 10, 3)
agyamilal W DU ETBROW BB
(@80 ETIe eamaesoeial
06,
L;m x(x+1) @oemye.
605 O ®1L6M

oI aUMYEHe8 X @DWOOAMIHE]
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14. a)

b)

i) y=Tanx
i) y =x3+2_Sinx

OIeIIUE Ly (I ®OQUMWYE'S
OMEUNHUM  af)PIOI-

" Jé is an irrational number".
06 H0SOTTBOY (im0
QUOWes 6E06MEGaomlFiake

@EO6TRBOUAMVL0 - G)FIDID:.

- "If a triangle is not isosceles

then it is not equilateral”.
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(2)

1)

2
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15.

16.

Consider the following data :

4,7,8,9,10, 12,13, 17
a) Find the mean.

b) Find the mean deviation
about mean.

The arith.metic mean (I) Jand

. : ' 2
variance (6 ) of two

distributions are given below :

Mean | Variance

Distribution 1 30

225

Distribution 11 20

144

17.

a) Compute the standard
deviations of the given
distributions. '

b) Find the coefficient of
variation of the given
distributions. ‘

a) If the probability of an event

g -
.A 1S g then-P(A ) : ..........

2 .. 1
1 = i) =
9] 8] ‘
-~ . 3
1ii) ] | iv 5
b) Consider the random

experiment 'tossing a coin
three times'.

- ' 1) Write the sample space.

i1) Find the probability of

getting exactly one head.

i1i) Find the probability of
getting utmost one head.

(2)

(3)

(1

3)

(1)

(1D

(2)

2)

16.
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